
@Carlyle
Technical Bullelin

oEM 98T-1

April 6, 1998

Compressor Wlrlng Procodures
For 06E & 06GC (50-99 CFM) Reclprocatlng

and 06T Screw Comproaaora

Tho followlng procedurg3 wlll prevent damage to the electrlcal te.mlnels and
the pos3lblllty of peraonal Injury.

The black plastic insulator block (P/N 06EA500672) is factory installed using jam
nuts (P/N AT14GA241). The insulator block is h6ld in plac6 on top ofjam nut #1
(see side view drawing) by jam nut #2. Jam nut #2 should bs checked prior to any
wiring to assuro that it is "snug". The maximum torque on jam nut #2 is lft-lb.
Applying too much torque to th€ jam nut #2 will crack or broak th6 insulator block.

All elsctrical wiring is connected botwsan jam nuts #2 and #3. Ring terminals are
recommendod for ease in wiring instead of using a plain wire hookup, especially if
haavy gauge wiring is us6d. Jumper bars (P/N 06EA500551) are only required for
across-theline starl configuration and, when used, th6y are also installsd
between jam nuts #2 and #3. Ths rscommondsd torque for jam nut #3 is 'l2 ft-lbs.
Onc€ all the jam nuts are properly torqued on the terminal plato, a small amount
of serviceable Loctite should be applied to prevont tha jam nuts from loossning.
All the accompanying drawings are shown using ring terminals and iumper bars.

Stoven S€tless
Markoting Managor

We Neod Your Help

Please provlde copies of this bulletin to your electrlcal
engineering group, electrical manufacturlng department

and service departm6nt.

t , l )  | . ) \  r l ( r 1
| h , r . .  i t : r i  r , t i -  t . r \  r L i . t . |  | . j



z ^ r O n

Black Plaslic

Sld€ Vi€w of El€ctrical Box
S€€ Nols

06T termind arransemcDt showr Thc 06E and 06CC (5G99 cfn)
electrical posts in place of thc 4 thcmistor pins sho$T abovc.

<---Rlng Termln€l

Oetail View of Tormin€l Po6t
Arang€ment

Top Vldr of Eloctdc€l Box
S.. Not

lcrmind box nay or nay not havc thrE

Nul #3 (12 Ft Lbs Toquo)

Jump€r 8ar (Requlr€d Ont for
Adc3 Th6 Lin6 Sbd)

Jam Nd l" (1 Ft Lb Msx. Torqus)

Jsm Nul #1


